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#L ki kIl kil ki ki kil kI % % % % % %
i [ i 1 4,762 179 317 5, 259 4,320 289 649 90.6 3.4 6.0 82. 2 5.5 12.3
#H 3 3, 027 1, 305 189 4,522 2,551 464 1,506 67.0 28.9 4.2 56. 4 10.3 33.3
o + 3,710 965 242 4,918 3,118 628 1,171 75. 4 19.6 4.9 63. 4 12.8 23.8
fil B R 7,278 1,583 175 9, 036 3,278 3, 552 2, 206 80. 5 17.5 1.9 36.3 39.3 24. 4
% i3] 19, 794 1, 359 357 21,511 6, 987 3,914 10, 609 92.0 6.3 1.7 32.5 18.2 49. 3
4 i i 6, 880 2,835 381 10, 096 4, 744 600 4, 752 68. 1 28. 1 3.8 47.0 5.9 47.1
& =X 8, 352 2, 336 593 11, 281 6, 441 586 4, 254 74.0 20.7 5.3 57.1 5.2 37.7
z 49, 042 10, 383 1,939 61, 363 27,119 9, 745 24, 499 79.9 16.9 3.2 44. 2 15.9 39.9
* R 2,279 1,353 329 3,961 2,279 282 1, 400 57.5 34.2 8.3 57.5 7.1 35.3
i Ui PN 6, 930 1,578 199 8, 707 2, 448 2,129 4, 130 79.6 18.1 2.3 28. 1 24. 4 47. 4
5 iz )53 2,727 603 104 3, 434 2, 526 170 737 79. 4 17.6 3.0 73.6 5.0 21.5
B ES 18, 765 2,079 412 21, 255 3,933 1,765 15, 558 88.3 9.8 1.9 18.5 8.3 73.2
B B i) 32,414 11, 205 895 44, 514 23,753 3, 226 17, 535 72.8 25.2 2.0 53. 4 7.2 39. 4
5 E g 6, 692 3, 635 390 10, 717 7,125 525 3, 066 62. 4 33.9 3.6 66.5 4.9 28. 6
z 69, 806 20, 452 2,331 92, 589 42, 064 8, 098 42, 426 75. 4 22.1 2.5 45. 4 8.7 45.8
T e 1, 630 1, 045 321 2,996 2,414 472 110 54. 4 34.9 10.7 80. 6 15.7 3.7
H W iy 12, 568 909 226 13,703 487 7, 393 5, 823 91.7 6.6 1.6 3.6 54.0 42.5
fi = JII 327 546 133 1, 005 731 175 99 32.5 54.3 13.2 72.7 17. 4 .8
Iy I £l 764 219 170 1,152 870 228 55 66. 3 19.0 14.7 75.5 19.8 4.7
z 15, 289 2,719 849 18, 856 4, 502 8, 268 6, 087 81.1 14. 4 4.5 23.9 43.8 32.3
= (L 5,221 1,075 98 6, 394 4,199 940 1, 256 81.6 16. 8 1.5 65. 7 14.7 19.6
& f JI 4,724 1, 666 294 6, 684 3, 959 290 2, 436 70.7 24.9 4.4 59. 2 .3 36. 4
R & I 1,983 1, 056 94 3,133 1, 648 134 1,352 63.3 33.7 3.0 52.6 .3 43.1
z 11,928 3, 798 486 16, 212 9, 806 1,363 5, 044 73.6 23. 4 3.0 60.5 8.4 31.1




153 B 2, 358 1,902 216 4,476 2,330 898 1, 249 52.7 42.5 4.8 52.1 20. 1 27.9
# [if] 1,610 2,438 215 4, 263 2,639 126 1, 498 37.8 57.2 5.0 61.9 3.0 35.1
iy = Fn 16, 488 1,293 305 18, 086 7,638 1,920 8, 527 91.2 7.1 1.7 42.2 10.6 47. 1
= i 1, 144 893 214 2,251 1, 339 201 711 50. 8 39.7 9.5 59.5 8.9 31.6
F 21, 600 6, 527 949 29,076 13, 946 3, 145 11, 985 74.3 22.4 3.3 48.0 10.8 41. 2

%k (= 804 840 213 1, 857 1, 296 225 336 43.3 45.2 1.5 69. 8 12.1 18.1
H B 118, 024 1, 270 572 119, 866 10, 600 23,576 85, 690 98.5 1.1 0.5 8.8 19.7 71.5
x 3 379 490 125 994 539 397 58 38. 2 49. 3 12.6 54.3 39.9 5.8
It Ji 144, 805 2,757 1, 368 148, 930 20, 007 28, 358 100, 565 97.2 1.9 0.9 13.4 19.0 67.5
%= B 1, 875 1,115 615 3, 604 921 1, 728 955 52.0 30.9 17.1 25.6 47.9 26.5
Fn R il 1,203 1, 143 73 2,418 1,395 515 508 49. 8 47.2 3.0 57.7 21.3 21.0
5 267, 090 7,614 2,965 2717, 669 34, 757 54, 800 188, 112 96. 2 2.7 1.1 12.5 19.7 67.7

=) B 451 519 95 1, 065 707 33 325 42.4 48. 8 8.9 66. 3 3.1 30.5
B R 751 1, 459 118 2,329 1, 655 222 453 32.3 62. 7 5.1 71.0 9.5 19.4
[if] il 1, 796 914 177 2, 887 1, 743 70 1,075 62. 2 31. 7 6.1 60. 4 2.4 37. 2
Ji = 10, 149 1, 270 307 11,725 7,143 939 3, 644 86. 6 10. 8 2.6 60. 9 8.0 31.1
] H 1,114 2,908 191 4,213 1, 496 344 2,374 26. 4 69. 0 4.5 35.5 8.2 56. 3
7 14, 262 7,071 888 22,221 12,743 1, 607 7,870 64. 2 31.8 4.0 57.3 7.2 35.4

(s 296 210 52 559 425 43 90 53.0 37.6 9.4 76. 1 7.7 16. 2
S 1, 146 230 30 1, 406 922 169 315 81.5 16. 3 2.2 65. 6 12.0 22.4
5= 1,413 666 129 2,208 1, 465 356 388 64. 0 30. 2 5.8 66. 3 16. 1 17.6
= 5,110 501 102 5,712 2, 457 516 2,740 89.4 8.8 1.8 43.0 9.0 48.0
7 7,964 1, 608 313 9, 885 5, 268 1, 083 3,534 80. 6 16. 3 3.2 53.3 11.0 35.7

& [if] 4,032 1,981 543 6, 555 4,074 308 2,173 61.5 30. 2 8.3 62. 2 4.7 33.1
= = 1, 752 827 123 2,702 1, 956 261 485 64. 9 30. 6 4.5 72.4 L7 17.9
s o 833 278 78 1, 189 1,032 132 24 70. 1 23.4 6.6 86. 8 11.1 2.1
7 6,618 3, 085 743 10, 446 7,063 702 2, 682 63. 4 29.5 7.1 67.6 6.7 25.7

15 PN 1, 160 104 76 1, 340 956 87 297 86. 6 7.7 5.7 71.3 6.5 22. 2
AE K 5y 2,555 581 51 3, 188 1, 745 163 1, 280 80. 2 18. 2 1.6 54. 7 5.1 40. 2
= W77 X X X X X X X X X X X X X
i = =h X X X X X X X X X X X X X
7 3, 880 713 131 4,724 2,891 252 1, 582 82.1 15.1 2.8 61.2 5.3 33.5

h # X X X X X X X X X X X X X
o 472, 249 64, 149 11,912 548, 311 164, 491 89, 352 294, 469 86. 1 11.7 2.2 30.0 16. 3 53.7




